

نام و نام خانوادگی: ...
 پاسخنامه تشریحی تکلیف شماره ۱۰۰۰ کلاس: A
 نام و نام خانوادگی: ...

$$14 \cdot 3! = 1 + 1 \times 2 \times 3 = 7 \quad (1! + 2! + 3! + \dots + 14!) \quad (2! + 4! + 6! + \dots + 14!) \\ \omega! = 1 \times 2 \times 3 \times 4 \times \dots \times \omega \quad \text{تقسیم میان ۵۰ سازد} \quad \text{تقسیم میان ۲۹}$$

$$2! = 2 \quad 4! = 1 \times 2 \times 3 \times 4 \times 5 \times 6 \times 7 \times 8 \times 9 \times 10 \times 11 \times 12 \times 13 \times 14 \times 15 \times 16 \times 17 \times 18 \times 19 \times 20 \times 21 \times 22 \times 23 \times 24 \times 25 \times 26 \times 27 \times 28 \times 29 \times 30 \times 31 \times 32 \times 33 \times 34 \times 35 \times 36 \times 37 \times 38 \times 39 \times 40 \times 41 \times 42 \times 43 \times 44 \times 45 \times 46 \times 47 \times 48 \times 49 \times 50 \\ \varepsilon! = 24 \quad 4 \times 7 = 28$$

$$\sqrt[4]{(4+\sqrt{7})^3} = \frac{1}{\sqrt[4]{4+\sqrt{7}}} \cdot \sqrt[4]{4+\sqrt{7}} = \left(\frac{1}{4+\sqrt{7}}\right)^{\frac{1}{4}} \times (4+\sqrt{7})^{\frac{1}{4}} = \sqrt[4]{\frac{1+2\sqrt{7}}{4+\sqrt{7}}} = 2^{\frac{1}{4}} = \sqrt[4]{2}$$

$$\frac{\sqrt{2} + \sqrt{3}}{\sqrt{10} + 2} \times \frac{\sqrt{10} - 2}{\sqrt{10} - 2} = \frac{(\sqrt{2} + \sqrt{3})(\sqrt{10} - 2)}{10 - 4} = \frac{(\sqrt{2} + \sqrt{3})(\sqrt{10} - 2)}{6} = \frac{\sqrt{20} - 2\sqrt{2} + \sqrt{30} - 2\sqrt{3}}{6} = \frac{2\sqrt{5} - 2\sqrt{2} + \sqrt{30} - 2\sqrt{3}}{6}$$

$$4 - 2\sqrt{3} = (\sqrt{3} - 1)^2 \quad 4 + \sqrt{3} = (\sqrt{3} + 1)^2 \Rightarrow \frac{\sqrt{3} - 1}{\sqrt{3} + 1} = -\frac{1}{2} = -1$$

$$\sqrt{1} = 2\sqrt{2} \quad \sqrt{2} = 3\sqrt{3} \quad \frac{2\sqrt{2} + 3\sqrt{3}}{\omega - 2} = \frac{2}{\sqrt{3} - 1} = \sqrt{3} + 1 = \sqrt{2} - 1 \\ \sqrt{9} = \sqrt{3} = \sqrt{2} \quad \frac{2\sqrt{2} + 3\sqrt{3}}{\omega - 2} \times \frac{\omega + 2}{\omega + 2} = \frac{19\sqrt{2} + 19\sqrt{3}}{19} = \sqrt{2} + \sqrt{3} > \frac{2}{\sqrt{3} - 1} \times \frac{\sqrt{3} + 1}{\sqrt{3} + 1} = \frac{2(\sqrt{3} + 1)}{2} = \sqrt{3} + 1$$

$$\frac{3\sqrt{3} - 1}{2 + \sqrt{3}} \times \frac{2 - \sqrt{3}}{2 - \sqrt{3}} = \frac{12\sqrt{3} - 13}{12} = \sqrt{3} - 1 \quad \left| \frac{1}{2 - \sqrt{3}} \times \frac{2 + \sqrt{3}}{2 + \sqrt{3}} = \frac{2 + \sqrt{3}}{1} \right| \quad \sqrt{3} - 1 + 2 + \sqrt{3} = 2\sqrt{3} + 1$$

$$\frac{1 + \sqrt{3} + \sqrt{3} - 1}{\sqrt{3} - \sqrt{2}} \times \frac{\sqrt{3} + \sqrt{2}}{\sqrt{3} + \sqrt{2}} = \frac{2\sqrt{3}}{1} = 2\sqrt{3} \quad 4 + 2\sqrt{6} - 2 = 2 + 2\sqrt{6} = 2(1 + \sqrt{6})$$

$$\sqrt[4]{\sqrt{2} \cdot 1} = \sqrt[4]{2} = 2^{\frac{1}{4}} = 2^{\frac{1}{4}} \Rightarrow 2^{\frac{1}{4}} \times 3 \times 2^{\frac{1}{4}} \times 2^{\frac{1}{4}} = 3 \times 2^{\frac{3}{4}} = 3 \times 2 = 6 \\ 142 = 3^4 \times 2 \quad \sqrt[4]{142} = 3\sqrt[4]{2} \quad \sqrt[4]{4\sqrt{2}} = 2^{\frac{1}{4}} \sqrt[4]{2} = 2^{\frac{1}{4}} \times 2^{\frac{1}{4}} = 2^{\frac{1}{2}} = \sqrt{2}$$

$$\frac{3^x (1 + 3 + 3^2 + 3^3 + 3^4 + 3^5)}{2^x (2^{-2} + 2^{-1} + 1 + 2^1 + 2^2 + 2^3)} = \left(\frac{3}{2}\right)^x \times \frac{3^5 - 1}{2^5 - 1} = \left(\frac{3}{2}\right)^x \times \left(\frac{242}{125}\right) = \omega^2 \\ \frac{9^x - 1}{4 - 1} = \frac{\omega^2}{1} \quad \left(\frac{3}{2}\right)^x = \frac{\omega^2}{125} = 2, 2\omega \quad x = 2$$

$$(a^T + b^T) - (a^T - b^T) = (a^T + b^T) + (-1)(a^T - b^T) = (a^T + b^T) + (-a^T + b^T) = (a^T - a^T) + (b^T + b^T) = 0 + 2b^T = 2b^T$$

$$\Rightarrow \left((\sqrt[3]{\sqrt{y}-r})^2 - (\sqrt[3]{\sqrt{y}+r})^2 \right) \sum = \sqrt{y}-r + \sqrt{y}+r - 2\sqrt{r} = (2\sqrt{y}-2\sqrt{r})^5$$

$$(\sqrt[3]{r(\sqrt{y}-\sqrt{r})})^2 = \sqrt[3]{r(r-\sqrt{r})} = \sqrt[3]{r^2 - r\sqrt{r}} = r(r-\sqrt{r})$$

$$\sqrt[3]{r(r-\sqrt{r})} = r(r-\sqrt{r}) \quad \text{then } r = 17$$

$$\sqrt{\frac{\varepsilon}{r}} = (\sqrt{\varepsilon} - \sqrt{r})^2 \Rightarrow \sqrt{\frac{\varepsilon}{r}} = \sqrt{\varepsilon} - \sqrt{r} \Rightarrow a = \sqrt{\varepsilon} - \sqrt{r}$$

$$(a + \frac{1}{a} + \sqrt{r})^r (a + \frac{1}{a} - \sqrt{r})^r = (a^r + \frac{1}{a^r} + r - r) = a^r + \frac{1}{a^r}$$

$$\Rightarrow (1-\sqrt{r})^r + \frac{1}{(1-\sqrt{r})^r} = V - \sqrt{r} + \frac{1}{\sqrt{r}} + r = V - \sqrt{r} + \sqrt{r} + r = V + r = 14$$

$$\omega \sqrt{\gamma \gamma \gamma} \times \sqrt{\gamma \gamma}$$

$$\frac{1}{V - \epsilon\sqrt{r}} \times \frac{V + \epsilon\sqrt{r}}{V + \epsilon\sqrt{r}} = \frac{V + \epsilon\sqrt{r}}{\cancel{V + \epsilon\sqrt{r}} \cancel{\epsilon\sqrt{r} - \epsilon\sqrt{r}}} = V + \epsilon\sqrt{r}$$

$$\frac{Y}{r} \omega \times \frac{\varepsilon}{r} \omega \times \frac{\varepsilon}{r} \omega = \frac{Y}{r} \omega = Y \varepsilon$$

$$(\chi \times \varepsilon)^{-\frac{1}{r}} = \lambda^{-\frac{1}{r}} = \sqrt[r]{\frac{1}{\lambda}} = \frac{1}{r}$$

$$\sqrt{a} = r^{\frac{1}{2}} \times a^{\frac{1}{2}} \Rightarrow a = (r^{\frac{1}{2}} \times a^{\frac{1}{2}})^2 \Rightarrow a = r^1 \times a^1$$

$$\left(\frac{1}{a^r} = r^r \right) \Rightarrow \frac{1}{a^r} = r^r \rightarrow a^{\frac{1}{r}} = \frac{1}{r^r} \rightarrow a = \frac{1}{r^r}$$

$$\frac{1}{\frac{1}{\sqrt{r}}} - r = r\sqrt{r} - r \Rightarrow \frac{r\sqrt{r}-r}{1+\sqrt{r}} = \frac{r(\sqrt{r}-1)}{\sqrt{r}+1} \times \frac{\sqrt{r}-1}{\sqrt{r}-1} = \frac{r(r-\sqrt{r}+1)}{r} = \frac{r(r-\sqrt{r})}{r} = (r-\sqrt{r})$$

$$(\sqrt{x+a})' = x+a \quad x'+a-x' = (\sqrt{x+a} + \sqrt{x-a}) / (\sqrt{x+a} - \sqrt{x-a})$$

$$(\sqrt{x-3})' = x-3$$

$$a+z = \gamma(\sqrt{x}a + \sqrt{x-z})$$

$$\sqrt{x+a} + \sqrt{x-a} = \frac{a+\varepsilon}{r}$$

$$\frac{a+z}{r} - r = \frac{a+z-z}{r} = \frac{a}{r}$$